E:# Adding Multiple Digits Name:

Solve each problem. Answers

1) Oliver used 11 batteries on hisflashlights, 2 in histoys and 3 in his controllers. How many
batteries did Oliver use?

2.
2) At thebank, acustomer turned in 18 dimes, 1 nickels and 1 quarters. What is the total
number of coins the customer turned in? 3
4,
3) Tom was playing tic-tac-toe. He won 8 times, lost 5 times and it was a draw 4 times. How
many times did Tom play? 5
6.
4) A chef was making pies. He made 13 apple, 4 pecan and 3 pumpkin pies. How many pies
did he make total ? 7
8.
5) During asale, ashoe store sold 3 pairs of sneakers, 11 pairs of sandals and 5 pairs of
boots. How many pairs of shoes did the store sell? 9
10.

6) For aparty Vanessa bought some cupcakes. She bought 2 chocolate, 4 vanillaand 12
strawberry. How many cupcakes did she buy?

7) Dave bought 11 new fireworks and his friend bought 7. If they already had 2 saved from
last year, how many do they have now?

8) A vet wasweighing 3 cats. The first weighed 8 pounds. The second weighed 7 pounds and
the last weighed 1 pounds. What is their combined weight?

9) On Monday Janet jogged 14 kilometers. On Tuesday she jogged 1 kilometers and on
Wednesday she jogged 3. How many kilometers did she jog total ?

10) A farmer planted 5 tomato seeds, 4 cucumber seeds and 4 pumpkin seeds. How many
seeds did he plant al together?
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E:# Adding Multiple Digits Name.  Answer Key

Solve each problem. Answers
1) Oliver used 11 batteries on hisflashlights, 2 in histoys and 3 in his controllers. How many
batteries did Oliver use? 16
1.
2. 20
2) At thebank, acustomer turned in 18 dimes, 1 nickels and 1 quarters. What is the total
number of coins the customer turned in? 3 17
) 20

3) Tom was playing tic-tac-toe. He won 8 times, lost 5 times and it was a draw 4 times. How

many times did Tom play? 5, 19
6. 18
4) A chef was making pies. He made 13 apple, 4 pecan and 3 pumpkin pies. How many pies
did he make total ? 7 20
8. 16
5) During asale, ashoe store sold 3 pairs of sneakers, 11 pairs of sandals and 5 pairs of
boots. How many pairs of shoes did the store sell? 9 18
10. 13

6) For aparty Vanessa bought some cupcakes. She bought 2 chocolate, 4 vanillaand 12
strawberry. How many cupcakes did she buy?

7) Dave bought 11 new fireworks and his friend bought 7. If they already had 2 saved from
last year, how many do they have now?

8) A vet wasweighing 3 cats. The first weighed 8 pounds. The second weighed 7 pounds and
the last weighed 1 pounds. What is their combined weight?

9) On Monday Janet jogged 14 kilometers. On Tuesday she jogged 1 kilometers and on
Wednesday she jogged 3. How many kilometers did she jog total ?

10) A farmer planted 5 tomato seeds, 4 cucumber seeds and 4 pumpkin seeds. How many
seeds did he plant al together?
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E:# Adding Multiple Digits Name:

Solve each problem. Answers
18 16 18 20 20

19 20 16 17 13 t

1) Oliver used 11 batteries on his flashlights, 2 in his toys and 3 in his controllers. How many || 5

batteries did Oliver use?

3.
2) At thebank, a customer turned in 18 dimes, 1 nickels and 1 quarters. What is the total
number of coins the customer turned in? 4
5.
3) Tom was playing tic-tac-toe. He won 8 times, lost 5 times and it was a draw 4 times. How
many times did Tom play? 6.
7.
4) A chef was making pies. He made 13 apple, 4 pecan and 3 pumpkin pies. How many pies
did he make total ? 8
9.
5) During asale, ashoe store sold 3 pairs of sneakers, 11 pairs of sandals and 5 pairs of
boots. How many pairs of shoes did the store sell? 10

6) For aparty Vanessa bought some cupcakes. She bought 2 chocolate, 4 vanillaand 12
strawberry. How many cupcakes did she buy?

7) Dave bought 11 new fireworks and his friend bought 7. If they already had 2 saved from
last year, how many do they have now?

8) A vet wasweighing 3 cats. The first weighed 8 pounds. The second weighed 7 pounds and
the last weighed 1 pounds. What is their combined weight?

9) On Monday Janet jogged 14 kilometers. On Tuesday she jogged 1 kilometers and on
Wednesday she jogged 3. How many kilometers did she jog total ?

10) A farmer planted 5 tomato seeds, 4 cucumber seeds and 4 pumpkin seeds. How many
seeds did he plant all together?

w M odified 1-10 [90]80[70[60[50]40[30] 20 10] O |
www.CommonCoreSheets.com




	Worksheet
	Worksheet
	Modified Worksheet

